

۱. کتاب (سناری) / دوازدهم فصل ۱ پیدا کردن ۱۵:۱۵

۳. $\Lambda \cos \alpha = 1 + \tan^2 \alpha \rightarrow \Lambda \cos \alpha = \frac{1}{\cos^2 \alpha} \rightarrow \Lambda \cos^3 \alpha = 1$ (۲)

۵. $\rightarrow \cos \alpha = \frac{1}{\sqrt{\Lambda}} \rightarrow \begin{cases} \sqrt{KM} + \frac{\mu}{\sqrt{\Lambda}} \\ \sqrt{KM} - \frac{\mu}{\sqrt{\Lambda}} \end{cases} \rightarrow \frac{\mu}{\sqrt{\Lambda}} \rightarrow \boxed{\text{جواب ۲}} \rightarrow 2$ (۲)

۷. $\omega - \omega \cos^2 + \gamma (\cos^3 - \sqrt{\Lambda} \cos) = -\gamma$ (۲)

۸. $\omega - \omega \cos^2 + \Lambda (\cos^3 - \sqrt{\Lambda} \cos) + \gamma = 0 \rightarrow \Lambda \cos^3 - \omega \cos^2 - \gamma \cos + \gamma = 0$

۹. $\cos^2 = 1 \rightarrow \sqrt{\Lambda} \cos = 1$ $\Lambda \cos^3 - \omega \cos^2 - \gamma \cos + \gamma$ $\frac{\cos^2 + 1}{\Lambda \cos^2 - \sqrt{\Lambda} \cos + \gamma}$
 $- \Lambda \cos^3 - \Lambda \cos^2$
 $\Rightarrow -\sqrt{\Lambda} \cos^2 + \gamma \cos$ $\gamma \cos + \gamma$ (۲)

۱۲. $(\cos^2 + 1)(\Lambda \cos^3 - \sqrt{\Lambda} \cos + \gamma) = 0 \rightarrow \cos^2 = 1 \rightarrow \begin{cases} \sqrt{KM} + \mu \\ \sqrt{KM} - \mu \end{cases} \rightarrow \boxed{\frac{1}{\sqrt{\Lambda}}}$ (۲)

۱۴. $\gamma \sin \alpha (\cos^3 \alpha - \sin^3 \alpha) + \sin \alpha = 1$ (۲)

۱۵. $\gamma \sin \alpha (1 - \gamma \sin^3 \alpha) + \sin \alpha = 1 \rightarrow -\gamma \sin^3 + \gamma \sin = 1$ (۲)

۱۶. $\rightarrow \sin^3 \alpha = 1 \rightarrow \begin{cases} \sqrt{KM} + \mu \\ \sqrt{KM} - \mu \end{cases}$

۱۷. $\alpha = \frac{\sqrt{KM}}{\sqrt{\Lambda}} + \frac{\mu}{\sqrt{\Lambda}} \rightarrow \alpha = \frac{\sqrt{KM}}{\sqrt{\Lambda}} + \frac{\mu}{\sqrt{\Lambda}} \rightarrow \left\{ \frac{\mu}{\sqrt{\Lambda}}, \frac{\omega \mu}{\sqrt{\Lambda}}, \frac{\gamma \mu}{\sqrt{\Lambda}} \right\}$

۱۹. $\rightarrow \frac{\mu + \omega \mu + \gamma \mu}{\sqrt{\Lambda}} = \frac{\Lambda \mu}{\sqrt{\Lambda}} = \frac{\omega \mu}{\sqrt{\Lambda}} \rightarrow 2$ (۲)



$$\sin\left(\frac{\pi}{4} + \alpha\right) \Rightarrow \text{Unit Circle Diagram} \rightarrow \cos \alpha \quad (3)$$

$$\cos\left(\frac{\pi}{4} + 2\alpha\right) \Rightarrow \text{Unit Circle Diagram} \rightarrow -\sin 2\alpha = -\sqrt{2} \sin \alpha \cos \alpha \quad (2)$$

$$\Rightarrow \frac{1}{\cos 2\alpha} - \frac{1}{\sqrt{2} \sin \alpha \cos \alpha} = 0 \rightarrow \frac{1}{\cos 2\alpha} = \frac{1}{\sqrt{2} \sin \alpha \cos \alpha} \rightarrow \sin 2\alpha = \frac{1}{\sqrt{2}} \quad (1)$$

$$\begin{cases} 2\alpha = 2K\pi + \frac{\pi}{4} \rightarrow \alpha = K\pi + \frac{\pi}{8} \rightarrow \frac{\pi}{8} \rightarrow \frac{2\pi}{8} = \frac{\pi}{4} = \alpha \\ 2\alpha = 2K\pi + \frac{3\pi}{4} \rightarrow \alpha = K\pi + \frac{3\pi}{8} \rightarrow \frac{3\pi}{8} \rightarrow \tan \alpha = \tan \frac{3\pi}{8} = \frac{1+\sqrt{3}}{1-\sqrt{3}} \end{cases} \quad (2)$$

$$\cos\left(\alpha + \frac{\pi}{2}\right) = \cos \alpha \cos \frac{\pi}{2} - \sin \alpha \sin \frac{\pi}{2} = \cos \alpha - \sin \alpha = \frac{1}{\sqrt{2}} \quad (3)$$

$$(\cos \alpha - \sin \alpha)^2 = \cos^2 \alpha + \sin^2 \alpha - 2 \sin \alpha \cos \alpha = \frac{1}{2}$$

$$\sqrt{2} \sin \alpha \cos \alpha = \frac{1}{2} \quad (1/20)$$

$$m(\cos \alpha - \sin \alpha) = \sqrt{2} \sin \alpha \cos \alpha = \sqrt{2} \quad (1/20)$$

$$m\left(\frac{1}{\sqrt{2}}\right) = \sqrt{2} \times \frac{1}{2} = \sqrt{2} \rightarrow \frac{m}{\sqrt{2}} = \sqrt{2} \rightarrow m = 2$$

$$\frac{m}{\sqrt{2}} = \sqrt{2} \rightarrow m = 2 \quad (2)$$

$$\sin \alpha \cos \frac{\pi}{4} + \cos \alpha \sin \frac{\pi}{4} = \frac{\sqrt{2}}{2} \sin \alpha + \frac{1}{2} \cos \alpha \quad (4)$$

$$\cos \alpha \cos \frac{\pi}{4} + \sin \alpha \sin \frac{\pi}{4} = \frac{\sqrt{2}}{2} \sin \alpha + \frac{1}{2} \cos \alpha \quad (1/20)$$

$$\left(\frac{\sqrt{2}}{2} \sin \alpha + \frac{1}{2} \cos \alpha\right)^2 = 1 \rightarrow \sin\left(\alpha + \frac{\pi}{4}\right) \cos\left(\alpha - \frac{\pi}{4}\right) = 1$$

$$\sin\left(\alpha + \frac{\pi}{4}\right) = 1 \rightarrow \alpha + \frac{\pi}{4} = 2K\pi + \frac{\pi}{2} \rightarrow \alpha = 2K\pi + \frac{\pi}{4}$$

$$\cos\left(\alpha - \frac{\pi}{4}\right) = 1 \rightarrow \alpha - \frac{\pi}{4} = 2K\pi \rightarrow \alpha = 2K\pi + \frac{\pi}{4}$$

$$\left\{\frac{\pi}{4}\right\} \rightarrow \text{Unit Circle Diagram} \rightarrow \alpha$$

$$1 \quad \sin \alpha + \sqrt{r} \cos \alpha = \sqrt{r} \quad \Rightarrow \quad \frac{1}{r} \sin \alpha + \frac{\sqrt{r}}{r} \cos \alpha = \frac{\sqrt{r}}{r} \quad (V)$$

$$2 \quad \sin \left(\alpha + \frac{\pi}{2} \right) = \frac{\sqrt{r}}{r} \Rightarrow \left\{ \alpha + \frac{\pi}{2} = \gamma K\pi + \frac{\pi}{2} \rightarrow \alpha = \gamma K\pi - \frac{\pi}{r} \right.$$

$$3 \quad \left. \alpha + \frac{\pi}{2} = \gamma K\pi + \frac{\pi}{2} \rightarrow \alpha = \gamma K\pi + \frac{\pi}{r} \right\}$$

$$4 \quad \alpha = \left\{ -\frac{\pi}{r}, \frac{\gamma K\pi}{r}, \frac{\pi}{r} \right\} \rightarrow \frac{\gamma K\pi + \pi - \pi}{r} = \frac{\gamma V\pi}{r} = \frac{4\pi}{r}$$

$$5 \quad \sin \left(\frac{4\pi}{r} - \alpha \right) \Rightarrow \bigoplus \Rightarrow -\cos \alpha \quad (1)$$

$$6 \quad -\sum \sin \alpha \cos \alpha = 1 \rightarrow -r \sin \gamma \alpha = 1 \rightarrow \sin \gamma \alpha = -\frac{1}{r}$$

$$7 \quad \left\{ \gamma \alpha = \gamma K\pi + \frac{V\pi}{r} \rightarrow \alpha = K\pi + \frac{V\pi}{r} \right\} \rightarrow \left\{ \frac{V\pi}{r}, \frac{19\pi}{r}, \frac{11\pi}{r}, \frac{r\pi}{r} \right\}$$

$$8 \quad \left\{ \gamma \alpha = \gamma K\pi + \frac{11\pi}{r} \rightarrow \alpha = K\pi + \frac{11\pi}{r} \right\}$$

$$9 \quad \frac{V\pi + 19\pi + 11\pi + r\pi}{r} = \frac{40\pi}{r} = \frac{4\pi}{r} \rightarrow ?$$

$$10 \quad 1 + \cos \gamma \alpha = r \cos^2 \alpha, \quad 1 + \cos \gamma \alpha = r \cos^2 \gamma \alpha, \quad 1 + \cos \gamma \alpha = r \cos^2 \gamma \alpha \quad (7)$$

$$11 \quad \sin^2 \alpha = \sin^2 \gamma \alpha \Rightarrow \sin \alpha = \pm \sin \gamma \alpha$$

$$12 \quad \sin^2 \alpha = \sin^2 \gamma \alpha \Rightarrow \sin \alpha = \pm \sin \gamma \alpha$$

$$13 \quad \sin^2 \alpha = \sin^2 \gamma \alpha \Rightarrow \sin \alpha = \pm \sin \gamma \alpha$$

$$14 \quad \sin^2 \alpha = \sin^2 \gamma \alpha \Rightarrow \sin \alpha = \pm \sin \gamma \alpha$$

$$15 \quad \sin^2 \alpha = \sin^2 \gamma \alpha \Rightarrow \sin \alpha = \pm \sin \gamma \alpha$$

$$16 \quad \sin^2 \alpha = \sin^2 \gamma \alpha \Rightarrow \sin \alpha = \pm \sin \gamma \alpha$$

$$17 \quad \sin^2 \alpha = \sin^2 \gamma \alpha \Rightarrow \sin \alpha = \pm \sin \gamma \alpha$$

$$18 \quad \sin^2 \alpha = \sin^2 \gamma \alpha \Rightarrow \sin \alpha = \pm \sin \gamma \alpha$$

$$19 \quad \sin^2 \alpha = \sin^2 \gamma \alpha \Rightarrow \sin \alpha = \pm \sin \gamma \alpha$$

$$20 \quad \sin^2 \alpha = \sin^2 \gamma \alpha \Rightarrow \sin \alpha = \pm \sin \gamma \alpha$$

$$21 \quad \sin^2 \alpha = \sin^2 \gamma \alpha \Rightarrow \sin \alpha = \pm \sin \gamma \alpha$$

$$\tan^2 x = \frac{1}{\tan x} = \cot x$$

1, 18

6

$$\tan \alpha_2 = \tan \left(\frac{\mu}{\gamma} - \alpha \right) \rightarrow \alpha_2 = \frac{\mu}{\gamma} - \alpha$$

$$\sum \mu_k = K\mu + \frac{\mu}{r} - u \rightarrow \sum \mu_k = K\mu + \frac{\mu}{r} \rightarrow \mu = \frac{K\mu}{\sum} + \frac{\mu}{\lambda} \quad 3$$

$$r_{M2} = \frac{KM - \frac{M}{r} + a}{r} \rightarrow r_{M2} = \frac{KM - \frac{M}{r}}{r} \rightarrow a = \frac{KM - \frac{M}{r}}{r}$$

$$\left\{ \frac{9M}{\lambda}, \frac{11M}{\lambda}, \frac{15M}{\lambda}, \frac{18M}{\lambda}, \frac{20M}{\lambda}, \frac{16M}{\lambda} \right\}$$

$$\frac{9M + 11M + 10M + 12M + 10M + 13M}{1} = \frac{65M}{1} = 65M$$

$$\cos\left(n + \frac{\pi}{2}\right) = \frac{\sqrt{2}}{2} (\cos n - \sin n) = \frac{\sqrt{2}}{2} \rightarrow \cos n - \sin n = \frac{1}{\sqrt{2}} \quad (5)$$

$$\cos n - \sin n = \frac{\sqrt{2}}{\sqrt{2}} \xrightarrow{\text{ل. 2}} \frac{\sqrt{4}}{2} \rightarrow \boxed{\cos n - \sin n = \frac{\sqrt{4}}{2}}$$

$$(\cos n - \sin n)^2 = 1 - \sin 2n = \frac{4}{4} \rightarrow \boxed{\sin 2n = \frac{1}{2}}$$

$$m(\cos n - \sin n) = 2\sqrt{4}(\sin 2n) = \sqrt{4} \rightarrow \frac{\sqrt{4}}{2} m - 2\sqrt{4}\left(\frac{1}{2}\right) = \sqrt{4}$$

$$\frac{\sqrt{4}}{2} m - \sqrt{4} = \sqrt{4} \rightarrow \frac{m\sqrt{4}}{2} = 2\sqrt{4} \rightarrow \boxed{m = 4}$$

$$\cos\left(n + \frac{\pi}{2}\right) = \cos\left(\frac{\pi}{2} - n\right) \rightarrow \cos\left(\frac{\pi}{2} - n\right) = \sin\left(n + \frac{\pi}{2}\right)$$

$\frac{\pi}{2} - n + n + \frac{\pi}{2} = \frac{\pi}{2}$

$$\sin^2\left(n + \frac{\pi}{2}\right) = 1 \rightarrow \sin\left(n + \frac{\pi}{2}\right) = \pm 1 \rightarrow n + \frac{\pi}{2} = k\pi + \frac{\pi}{2}$$

$$n = k\pi + \frac{\pi}{2} \xrightarrow{0 \leq n < 2\pi} k \geq 0 \rightarrow n = \frac{\pi}{2}, \quad k < 1, n = \frac{3\pi}{2}$$

مقادیر جواب در بازه $[0, 2\pi)$

$$\tan^2 n = \frac{1}{\tan n} = \cot n \rightarrow \tan^2 n = \tan\left(\frac{\pi}{2} - n\right) \quad (10)$$

$$n < k\pi + \frac{\pi}{2} - n \rightarrow n < k\pi + \frac{\pi}{2} \rightarrow n < \frac{k\pi}{2} + \frac{\pi}{2}$$

k	2	4	6	8
n	$\frac{9\pi}{8}$	$\frac{11\pi}{8}$	$\frac{13\pi}{8}$	$\frac{15\pi}{8}$

$$S = \left(\frac{9+11+13+15}{8}\right)\pi = \frac{48\pi}{8} = \boxed{6\pi}$$